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Notc: This question paper contains t\\ o narl.s A. anC B.

- Part A is cornpulsory tvhich carries 20 marks. Ansx'er all questions in Part A.
part B consists of 5 Units. Ansrver an\/ one full question fronl each unit. Each

question carries 8 marks a4d ntay have a, b, c ar! sub questions
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PART - A

...i: 5x4marks=20
Compare and contrast among 1G to 3G cellular Communications S1'stem.

List out the advantages and disadyantages of choosing UI{F Technology.

'1, 
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1.u)

b)
c)
d)
e) Drau' the PI-iY la1,s1 packet

in ISEE 802.11 \\1LAN"

IEEE 802.15.4.

5xBmarks:40

I traffic ihe stations is assumed to form a Poisson

max in Erlangs? What is the maximun-t

tiroughput in

Consider a \\/LAN
OR

in r,',hich maximum propagation deiav is tl.5
l2Mbps, and eqch cacket is 50CTne \\LAN operates at a,daia raie,of

Calculate the throughPut rvith:
a) an Unsiotted nonpersis'reni
b) a slotieii persistent
c) a slotted I-persistent CSI\4A Protocoi. IJ TJ r-l ]

4. Discuss ir detail about thr.e \Yireless i-ocal Area Nefli'orK (*Ii-ANr) Topoiogies.

A WLAN
transinission
protocol.
process.

3i6iper

:-
OR

With a neat diagrarn explain the popular
Teci-u-roiosies.

unning tire same aPPlication. The

anil'the station uses slsfied ALOI]A

i,\lt -J

ISlr4 bands in use b1' Wireless LAi'i
t8l

).

't 
lrtt

Discuss about ]-lidden
\\irite a shcrt notes on

in.N4bps for €ach station?
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6. Consider a F-H/MFSK \\/l_AN sysrejn in u,hich a pseudo randont r.roisc {pN)
setreralor is defineci b1'a 20 stase linear leedback shift reqister rvith a nrarirnal
length sequence. Eacli state of register dictates a ne\\,centei frequencl.rvit5in the
ilopping band. The ntaxinturtt step size belu,een calrier lrequencies &op-io-lrop)
is20AHZ. lhe register-clock rate is ?k112.8-arl,FSK mo<Julation is use6 antj the
data rare is l.2kbps.
a) \Vhat is hopping bandu,idth?
b) \Vhat is chip rate ?

c) Hou'manv chips are there in each s),mbol?
d) \\/hat is processir-rg gaiii? r^l)T'i'f/li- - " -l

7.

8.

9"

OR
ccxrpare and cortrast behveen M-AC access sche,es in \\,.LAN. Ig]

Explain the steps in N4aster(B)/ Srave(A) roie su,itching. lgl
OR

Describe the procedure ibr localry coordinated Scheduling (I.cs) to achieye
eftjcient scatternet u,ide schedule. ig]

10. \\iith a neat diagram explain

Explain the process of obtai
protocol.

1.302.15 3 Iv.{AC Super Frame.
R

i8l

11. and reverse path forrnation in AODV
t8l
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